
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Multipliziere Dezimalzahlen mit negativen
Zehnerpotenzen

2608, 3 × 0.1 = ________ 3003, 1 × 0.1 = ________

5086, 7 × 0.1 = ________ 1844, 1 × 0.001 = ________

2818, 8 × 0.0001 = ________ 3380, 6 × 0.0001 = ________

5386, 1 × 0.1 = ________ 6875, 7 × 0.1 = ________

5219, 6 × 0.0001 = ________ 4751, 5 × 0.001 = ________

1505, 4 × 0.001 = ________ 6976, 5 × 0.001 = ________

6299, 8 × 0.01 = ________ 2202 × 0.001 = ________

3444, 4 × 0.001 = ________ 6192, 8 × 0.001 = ________

2432, 1 × 0.01 = ________ 1304, 7 × 0.01 = ________

3916, 9 × 0.0001 = ________ 6757, 3 × 0.1 = ________
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Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Multipliziere Dezimalzahlen mit negativen
Zehnerpotenzen

2608, 3 × 0.1 = 260.83 3003, 1 × 0.1 = 300.31

5086, 7 × 0.1 = 508.67 1844, 1 × 0.001 = 1.8441

2818, 8 × 0.0001 = 0.28188 3380, 6 × 0.0001 = 0.33806

5386, 1 × 0.1 = 538.61 6875, 7 × 0.1 = 687.57

5219, 6 × 0.0001 = 0.52196 4751, 5 × 0.001 = 4.7515

1505, 4 × 0.001 = 1.5054 6976, 5 × 0.001 = 6.9765

6299, 8 × 0.01 = 62.998 2202 × 0.001 = 2.202

3444, 4 × 0.001 = 3.4444 6192, 8 × 0.001 = 6.1928

2432, 1 × 0.01 = 24.321 1304, 7 × 0.01 = 13.047

3916, 9 × 0.0001 = 0.39169 6757, 3 × 0.1 = 675.73
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